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e H| ot 5| A gey e olafiy (elalelel (rpiei |aeiel| A | 2ot 2% [2He| 2EE
1 Sh2 7 M| o [MWETOR0ON x e (stm a1 0 30 0 ol 30| 217 6,510 210 6,300
o |s#mzeuczapoys)| yzp |VO72300240 ;ﬁ'géwaol%ﬁ S8 (opSotal =) (0.650/18) (IR ESA = SR (T 0 30 0 o[ 30| 90| 2,700 9| 2,700
3 shEorE Lop  [WVAO740489T FolZ 2 X 150/12.5mg(BtH524E)-15 0 90 0 0 90| 863| 77,670 458| 41,220
4 gho|ekE o [VASTA07TE OFZ EEFY5/100mg(sho|+E)-18 0 60 0 ol 60| 945 56,700 924 55,440
5 sholX| of oy |VMPOSET0% o a4 (100mg) 0 8 0 0 83,300 26,400 0 0
6 PN o [WE7OBOTEAT otojuanotoy (s 2t s = ARLLE B)(1218)_(0.5ma/0.5mL)((F)F 2 A)-0.5mL/ 2 0 90 0 o| oo| 298| 26.640] 198 17.820
7 th Sutol 2 zp | VO94000000 Mo oteticimp s (BRIZE Ml 0] £)(H 2 H0I 2(F) 124 & 0 420 0 o| 420| 523| 219,660 497| 208,530
8 th S Al o o (VAP0 e = N ooomg(h el -1 0 120 0 o 120| 264| 31,680 180| 21,600
9 ufo|2 =2 o} o |WWR02B0I2 oL dieim 2 e E 1 00mg(Blo| 2 TR  Op)—1E 0 60 0 ol eo| 84| 5,040 771 4620
10 | =zsjo|@ma} Ljop  [W670500540 ;E‘EHFO'EO&E%&J@OODE'EDE“"(O&E'E'Q%ﬂ@)(@g%iHPO'EEMHL” 0 240 0 o| 240 77| 18,480 77| 18,480
11 Hob= 2| A za of e W073400360 gurﬁag5DE'E|:L%.*(?:.*EEIEmlgﬁ%)_(6.944mg/1@)(HIOfEalﬁialof(¥))—1 0 870 0 ol s7o| 361| 314,070 361| 314,070
12 | wlotsalazmeiop | wpmp |MO7S0090 [FHSBIOABIOIE SHSHERSATER) (0 SomatE)lorE 2 of 450 0 o| 4s0| e42| 288,900  642| 288,900
13 Aol x| of o [VAPOPOR0RT e e i ooomg(atel Fl el -1 0 30 0 ol 30| 34 1,020 34 1,020
14 MEZ| 2 <f VA0SR0 Nae Sum (e eron-1H 0 120 0 0| 120 67 8,040 67 8,040
15 e o [VACR00TET o3 2 (petere)-1H 0 30 0 of 30l 10 300 10 300
16 Fotek wap [VO42102282 5= A2 (0.29,3mg,10mg,26.2ma/20mL)((F) R aterst)-20mL/ = 0 30 0 ol 30| 200 6,000 198 5,940
17 | HMolHE®rE2H o VOISO ot i) oo (T EpurA BRI ZES ) (R OI T 2 S S 9 F o () -1 1 0 240 0 0| 240[1,257| 301,680 815| 195,600
18 | sh=Hl @A A SHY op  [WEO4260TET o|Ft2C|A™40mg(Sh=H Al A s )18 0 60 0 0| 60| 783| 46,980 415| 24,900
19 | st=2opamaanier |z [VERTOSTlsi= dicimo omg(stRotamai AT of)-1 ol 180 0 o| 180l1,271| 228,780  644| 115,920
20 H2QIh= yap VOO0 = o s spm (Lt AE 21 S)_(5mg/ E) (BHR @b (F))-1H 0 60 0 o| 60| 725| 43,500]  725| 43,500
21 = It= o V078109220 S (= Atz et E) (50m g/ (=2 27t=(F)-18 0 360 0 0| 360 478| 172,080 478 172,080
22 7|t Oﬂuc’ﬁg% WMDO4070T6 o utn 1mi(52) 1 0 0 0 115,000 5,000 0 0
<A@ 7|z >
Al Al T HA7[ 2 HAX| /R 2 A
Mats s A Al LA E AL FUHEAX| A

1/1 2023-10-05 9:57

T
o
Pl
o
Tk
Ral




